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B.A. DEGREE (C.B.C.5.5.) EXAMINATION, NOVEMBER 2014

First Semester
Complementary Course—Sociology
AN TNTRDDIjCTIUN TO S0CIOLOGY
(2013 Admission Onwards)

Time : Three Hours
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Part A

Answer all guestions in one sentence sach.
Each question carvies 1 mark.

Socicty.

Auguste Comte.
Primary Group.
Social institutions.
Formal social control.
Religion,

Marriage.

Social Development.
Westernization.

Cultare.

Part B

Answer any eight questions in not more than 50 words each.

Each question carries 2 marks.
Trace the emergence of Sociclogy.
Define social interaction and discuss its nature,
Explain the elements of social structure.
Discuss the various types of social institutions.
Distinguish between social progress and social development.
Explain the term 'social change'.
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Diseuss the characteristic featlures of community.
Describe the term — ‘modernisation’,

Give a brief note on social control.

What is social processes 7 .

Discuss the characteristics of social change.

Write 4 short note on ca-operation.

Part C

Ansiver any aix of the following in not more than 200 words each.
Each question carries 4 marks.

Explain the characteristic features of sociology.
Wrile a brief note an subject matter of sociology.
Define family a.nd discuss the functions of family.
Write a short note on conformity,

Diseuss the importance of socialization.

What do you mean by the term evolution 7

What are the major types of society 7

Degeribe the stages of socialization.

Explain edueation as a factor of social change.

Part D

Answer any two of the following in not more than 500 words each.

Each question carries 15 marks.
Explain the relevance of the studying sociology today.
Discuss the importanee of social group.
Fxamine the theoretical pergpectives of the development of self.

Write an essay on social eontrol.
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